STAR
7:&-./’/1—/\2’5’

_E‘B BN _il%.

CBBO—K Kasisl
il It MFH3200
#BE'L %ﬁ*”iﬁ MFH3200 01

r___
2B
g
¥

SET ORI, ﬂ?ﬁﬂﬁf#ﬁﬁ!ﬂ’éaﬁﬁ“ﬁ‘”" ] .

U EROBRTCRBTRA TS,

| A F-RAR B



3 o x

Bad EXICDONT fHiEERm OIS EFRICDONT
1. B&TEXORE. TREHZ CEKLE N, TOMBORERRROUHER G .

BETBODH®ROETT. ZFL, #RERBNT

HoTH, BHRMBEICOWTERMIE &% ZH%

EERTWEELEEGLHDET,

OWEES WBEELBHEL TS FE0, ) ﬁ@%ﬁ@ﬁ%ﬁﬁ%ﬂg@tﬁm#%ﬁmf

OF B RESERELT SN, ) BTLETH, #aFERARTH->TH, BN
6 O TEFEN S o EBE IR B L HERK 2D

X OEPRMERINENE c MEREFRHEBIUEREIC WTIHREETWEFEET,

BiffOF— AT L — FCRRUTHET,

D8l & 4
O BB ()
ORBEF (MEEFEZZMLTLSEI N, )

2. BEHRO [ 3. UToz&ziLTHD
=

L o 2akE HAAENTWY 3 ERIR
&L DB SRR

- 7ytdmicsEhamm cER Tl
RIS LI IR



MFH3200 ZxlL—2N\—ARR%

Frhw 72

ErPRy s A
Fra12e

AN

S HPTO

figs | HMaEE - . B 5.

1| 1132591003 Froyr—-xX 1
2 | BZ12035 MYE 8. 8 M12X35 2
3 | wsAl12 N AR 34y M12 2
4 | 0810883003 Y1 Rpw s 1
5 | 0008240000 PICAHN—; 2 1
6 | BSZ10030 JAFRIE 7 M10X30 6
7 | WSA10 INRFHE 3% M10 6
8 | 0799780002 _RYLFY; 35T 1
9 { 1132600002 PICS%7h ] 1|
10 | J6208 PINRTUT 6208 1
11 | 16207 NRFTUY 6207 1
12 | 0828320000 A 4
13 | D35558 Fi—) D35X55X8 1
14 | 0799792002 RNVE=L ;16T 1
15 | J30208 F—NO—SRXFY2Y 30208 1
16 | J6208LLU R=WRF7US 6208LLU 1
17 | D407210 F1N—J D40XT72X10 1
18 | AWOS NPV T Ty AWO0O S 1
19 | ANO8 , N7V Ty h ANOS 1
20 | 0960890000 PICHFyv/; 35 1
21 | JLAO45ASY NJ—PaA>+ LA—45 1
22 | 1208510000 NJ—PaAh 73 OWALA-28 1
23 | 0591333000 Frw 755, AS 1
24 | 000338000M M1075% 1
25 | 0003390000 XvF M1 07S7H) 1

_2..




MFH3200 7#b—2N—~R2R% - FPRY T

LY URY IR
FE12
7
28
k52 ZPTO
R | BREE B oom A B & =
26 | 0639721000 PICHN— ' 1
27 | 116306000M A AF3CP 1
28 | BSZ08025 ORI T M8X25 1
'29 { NSZ08 JHyFwhk 8 232 MS 1




MFH3200 7xlb—UN\—RR%

3PT7L—A

32

e
g
3
5
g | MR EE N ek &
1 YT I7L—ACP !
-2 | 0903580003 -1 R 1
3 | 0903590003 o—71> ;L 1
4 | ONAB FY—Z=w ) A M6 1
5 | 000011300M o—oU e ;11 2
6 | NAA24150 Jwhbh 4 132 M24X150 2
7 | WS24 INFHHR 207 M24 2
8 | 119555000M [ 4
9 | 120255000M DoFEY =774 —F+ v FVUF 7
10 | 1206020003 by 7<ZRCP 1
11 | 1133510003 Zb—h 2
12 | BZ20060 NS 8. 8 M20X60 10
13 | NZ20 - Fwh 8 2¥a2 M20 10
14 | WSA20 INFRFHEZ 309 M20 10
15 | 000098100M VAP A-VEN KNI 1
“16 | 000088100M N—FE;19X3 1
17 | 091057000M ¥y Frno 1
18 | 000739000M U2FEY; 9 1
19 | 120585000M ¥>CP 1
20 | 085537200M FAuwlFrybh;M35X1. 5 1
32 | 0899780003 7y 1
33 | 090066000M A b 1
34 | NZ16 Fvhk 8 232 M16 1
35 | 000739000M Y2F¥L ;9 1




MFH3200 7axb—UN—~RX¥% L URw IR

Mg | HeaFEE I I ek & =
1 | 1205360003 FYior—2Z ;U 1
2 | 1205370003 Fv¥or—A:Lo 1
3 | 1205500003 Y1 By o7
4 | BSZ10030 IHZHFINE 7T M10X30 12
5 | WsAl0 INFTHR 34 M10 12
6 | J6022LLU ™IANRTUS 6022LLU 1
7 | ORGI80 QU2Y G—-180 1 W
8 | 1205380002 7 b 1 '
-9 | D50729 A4l D50X72X9 2
10 | J6209 P=IARFYYT 6209 2
11 | 1205390002 AT—;46X56 2
12 | 0799780002 ANLVFP; 35T 2
13 | J6208 R=IRFUT ;6208 2
14 | 1205400002 ho— 2
15 | ORGO40 VY G—40 2
16 | D50659 AN~y D50X65X9 2
17 | 046336200M AAOwTFy bk ; M40X1, 5 2
18 | 0799792000 ARJVEZF 16T 2
19 | J30208 T—/NO—5RFVY 30208 2
20 | D407210 AN = D40OXT72X10 2
21 | Je208LLU R—ARFULZY 6208LLU 2
22 | AW08 N7V TTwi+ AWO0 8 2
23 | ANOS NFUTFyh ANOS 2
24 | 0008270000 PICHN—: 3 2
25 | BSPZ08016 JIHAZSWYFHRILE 7 M8X16 6

-5 -



MFH3200 Zx4lb—IN—~RR%

b TRy 7R

E | HREF _ W & & FF {EZ w =
26 | 044097200M Tyl 8 6
27 | 0591333000 FrwZ TS5 AS 2
28 | 000338000M M10 ;79557 2
29 | 0003390000 NyFr M1 07573 2
30 | 000415000M Fyw7; 62 2
31 | 1205410003 754w hCP 1
32 | BZ12030 A 8. 8 M12X30 8|
33 | WSAI2 NxYHR 337 M12 8
34 | BZ12035 AV 8. 8 M12X35 4

. 35 |NZ12 Jwh 8 2¥a M12 4

36 | WSAI12 NxYHx 337 M12 4

37 | 1217320006 1

INT—Tg bk




MFH3200 7#LlL—J/N\—~RX¥

TIARA—I, Tp—)S—

£6.
ﬁ’@

_ A
MEE | HeEE I feg fii %

1 | 1205270003 754 CP 1
2 | 0903810003 DT 2

3 | 0903820000 V) el 2

4 | 120528000M HS5— 45, 5X12 1

5 | 120529000M H5—140. 5X27 1

6 | J6209Z R=IWRFUZS 62092 2

7 | D527512 F4IN—) D52XT75X12 2

8 | DHCO085 CH¥NAY 7+ 85 2

9 | BZ14040 P 8. 8 M14X40 6

10 | NZ14 - Jwh 8 232 Ml4 6

11 | WSAl4 INFHHE 3077 Ml4 6

12 | ONB6 FUA=w) B M6 2

13 | 1205300003 A700yb;60X14T 1

14 | 046336200M AAayTryh; M40X1. 5 1

15 | 046266200M A ATwTFy b ;M45X1. 5 1

16 | 120522000K e 6

17 | BX14150035 RIS 10. 9 M14X1. 50X35 18

18 | 118592000M MTT9ix; 14X4, 5 18

19 | 1205310003 F1 7RIS CP 6
. 20 | BCI10060 P AT ¥ M10X60 12

21 | NSZ10 A&y h 8 232 M1O 12

22 | BZ16040 T 8. 8 M16%X40 36

23 | NZ16 Jwh 8 22 M16 36

24 | WSAl6 NP HER 307 M16 36

25 | LAB0042 O—5Fx—2 60X42L 1

_7_




MFH3200 ZJxlL—UN—ARX¥

TIHRA =N, Tp—)N—

g | SMAHFF B & &£ [E25 {r %
31 | 120523000K S—IN— 1

32 | BZ112050 Ak 8. 8 2 M12X50 2

33 | NZ12 Jwhk 8 232 M12 2

34 | BZ12070 A 8. 8 M12X70 2

35 | NZ12 Fvbh 8 2¥a M12 2 -

36 | WSA12 INRHHR 307 M12 2

37 | 072013200M INT Ty ;12 2




MFH3200 Z#L—JN—RZR¥ | | USyFHYIA (1)

Mgy | HEREE B & & 1B i =

1 | 1205540003 Fvio—A; L 1

2 | 1205550003 FYir—Z ;R 1

3 | BSZ10040 TJHFBIVE 7 M10X40 7

4 | WSAI0 INAFHHR 307 M10 7

5 | PS080032 ATV TE 8X32 2

6 | 1208170003 TS5 ' 1.

7 | BSZ10030 JHZFIE 7 M10X30 3 o
8 | WSA1L0 INFYHER 33 M10 3 :
10 | BZ12050 P 8.8 M12X50 4

11 | NZi2 Fwhk 8 2¥2 M12 4

12 | WSA12 INETHR 337 M12 4

13 | 1205560000 Y7 1

14 | 056984000M )7 1

15 | 0702081003 Fr; 17T 1

16 | ORGO30 oUr¥% G—-30 1

17 | 0814240000 J15— ' 1

18 | D40558 F1MNi—) DA40X55X8 1

19 |J6206 | HIIRFIUT 6206 1

20 | D35558 FANI—) D35X55X8 1

21 | J6206LLU M—NRFY% 6206LLU 1

22 | DHC062 CHE AT F7F 62 1

23 | 1205570000 2704wk ; 32T 1

24 | 075318000M HHF ' 1

25 : Owhzestwk 1

2 1

PC032032 JUEZ 3. 2X32
: e



MFH3200 Zxb—YN—A~RZX%

75w FRy A (1)

iE BREEE w & A iEs fii #
27 | 1205580000 e AN 1
28 | 1134360000 FY:;16T—358P 1
29 | 16206 R—IRTVT 6206 2
30 | 1134380000 H5—:85. 7X25 1
31 | 0702071003 FV;19T 1
32 | 056984000M Y'Y 1
33 | D40558 FA1Ni—) D40X55%X8 1
34 | 0814240002 15— , 1
35 | ORGO30 ovx¥ G—30- 1
36 | 0825750000 F¥; 18T 1
37 | 0814320000 FY; 24T 1
38 | 0814310000 FV¥; 15T 1
39 | 0814340000 Ty ; 36X2 1
40 | 0814300000 75— 1
41 | 059312200M F15— 1
42 | J6206 F—IRFYUS 6206 2
43 | 0814291000 7k 1
44 | 0814350000 F¥;14T 1
45 | 0872231000 XTI TARD 1
47 | 075318000M A 1
48 | NC2L20150 FeANFyh2ia EZM20X1.50 1
49 | PC040040 JUEL 4X40 1
50 | JK303520 Z—RNARFUH K303520 1
- 51 | ORGO30 oUy G—30 1
54 116206 TIRTY >Y 6206 2
56 | 0825772000 ¥ 7 b . 1
57 | 0610702000 A—H;30x13. 8 1
- 58 | JWS81106 ——FIRFVT WS81106 2
59 | 0814370000 FY; 19T 1
- 60 | 0706431000 Ty 2
61 | 0814380000 FVv; 24T 1
62 | 0814390000 Do wF . 1
66 | D40558 F4Ni~—J DA40X55X8 "1
. 67 | ORGO30 ou% G—30 1
- 68 | D30507 AN —) D30OX50X7T 1
94 | 0003380008 M1075% . 2
: 95 | 0003390000 NwFy M1 075473y 2
96 | 0007170000 Fu—dt 1
- 97 10702061003 FY, 20T 1
93 | 0702091003 FY; 16T 1
065482200 Twiy; 12 4

102

- 10 -~




MFH3200 ZJaxlL—IN—RR% ' UI3vFRy IR (2)

o—J; U

FFIA \ 25
@/ 4l

ETHR

_ . \
RETEY 3
Tﬁ%\%ﬂn‘- “ Xz
g | HAREE - -
1 | 0825802003 FY27o4y FCP ' 1
-2 | 075318000M ks 2
3 | NC2L20150 FyrwAFyk 23aks M20X1. 50 2
4 | PC040040 YUY 4X40 2
5 | DHC062 - CHERADT T+ 62 2
6 | J6206LLU - P=INTUY 6206LLU 2
7 | 0825790000 FY; 15T 1
8 | 081441500M TTHCP 1
9 | 0826553003 7287 —LCP 1
10 - | ORP0O20 QU2¥y P—-20 2
11 | 000056200M E2:B10X40 1
12 | PC032016 JUE> 3. 2X16 1
13 | 000067200M ¥2:B12X60 2
14 | 000085200M R—FE; 8X1. 6 2
15 | 1134440003 A7y 23T 1
16 | 0811753003 r—iNL bRLVY 1.
17 | 0811771000 Twia 1
18 | 0825812002 Ty 7k 1
19 | WRA30 SR M30 - 1
- 20 | 0826620003 | HS— 1
21 | J6206LLU P=NR7UY 6206LLU - 2
22 | 075318000M | TPH % : 1
23 | NC2L20150 FrovAFy b 232k M20X1. 50 1
24 | PC040040 UV 4X40 - 1
25 | DHCO082 - CH¥WAD 73+ 62 1

_11....



MFH3200 JxbL—INn—AKRRX%

759FRyIZ (2)

a—j; U

FEIN \@/

25

14

Ooy

21

T
\ .
BT oy
1 y
<, "7_::/]':’77[:}' s ’Q\L
= HETRHY 7
MR | W EE - B & & W] W =
26 | 0825832003 AZN s ATy 1
T 27 {ONA6 FY—Z=w 7 A M6 2 |
28 | 0446912000 Tx—iRV bk N 4 | sy
29 [ Nspos IHZZTV Ty 4 M8 o 4 | P33
30 | BZ12025 Tk 8. 8 M12X25 ' 11 .
81 |wsalz. INFEHHR 34y M12 1|, .
{ | 32 1LA50038 B—5Fx—> 50X38L 1
33 | AAO50 WESS _ 1

- 12 -



ta—)l; U

MFH3200 7#L—JN—~RR%

TI3vFRy LR (2)

FHE18A
ME | HHREE - {Ek B
.1 | 0669544006 Taq 1 hAS; 2 1
2 | 1134490002 Ty 7 hCP 1
3 | 0865764006 Pa{hAS ;1 1
4 |ONA6 TU—AZw 7 A M6 1
5 | BZ12045 M 8. 8 M12X45 3
6 | WSAlL2 NFPHR 307 M12 3
7 | 1206270003 U¥o—)LCP 1
8 | 096104000M Ty 2
9 | 0702872000 = | Twia 2
10 | WRA30 EIHHE M30 1
11 | 1134541003 A1 R7—=ALCP ;R 1
12 | 1134591003 HAR7—ACP ;L 1
13 | ONB6 TJU)—ZZw )l B M6 4
14 | 1206300003 74— Ra—)L,CP 1
15 | 096104000M Ty 2
16 | 0702872000 Twia 2
17 | WRA24 ESHNE M24 1
18 | PC050036 YUY 5X36 1
19 | 070290100M H5— 2
20 | 0811090003 | A7O4w b 13T 1
21 | 1134420003 A0Sy k26T 1
22 | WRA24 ESYHE M2 4 2
23 | PC0S0036 JY¥L 5X36 2
24 | LA50045 O—5Fr—> 50X45L 1
25 | 0800300003 AZI 2

_13_




MFH3200 Zilb—UN—A~RR%

o—Jb ;U

25
D
_‘h
ZS9FHu R (2)
#E18N
g | BREF W& A W B i &
26 | 059483000M AVFRIVE ; M8X 25 4 -
27 | NSPos IHZATI 7y 4 M8 4
28 | 121351000M O—J)l7—ACP; 1 I
29 | 113468100M B—)L7—ACP ; 2 _ 1
30 | PS080050 ATYLTES 8X50 1
31 | 1134700003 U7 R7—A 2
32 | 0702892000 Twia 4
33 | ONB6 FU—Z2=w7 B M6 6
- 34 | 066871100M Ho— 2.
“35 | 058125200M Twiv; 26X2, 3 4
.36 | PC050036 ¥ 5X36 4
37 | 0814090006 AT 2
- 38 | 070286100M ATV TRV 2
-39 | 025266000M Fag AP 2
.40 | BX112070 AR 10. 9 ¥ M12X70 2
41 | NZ12 Fvbh 8 232 M12 2
42 | AADSO wET 1

_.14_




MFH3200 Z#lL—YN—ARZ¥ | Bl Lo, Havy

gt

o %/@ /@7 @%@Sﬁ ﬂ

k1| i
128£5-2
B | HaEE WwoOos & B B { =
-1 | 1193920006 JaqkAS
2 | TRK10020 6RARY 10. 9 Z3HRI M10X20
3 | NSZ10 aH&F>whk 8 232 M10O
4 | 083823000M Jwiy; 30. 5X3. 2 '
.5 | 1206100003 ZL—>0—=)L.CP '
6 | 1206120003 Yy 7h T—o-)
7 | 0811062003 A&
8 | 101743000M JL—k W,
9 | 0811170003 HS—
10 | 115760000M | 15— ; 30. 5X23
11 | DHC062 | CHZRRXT 7+ 62
12 | NSZ10 N5y 8 2¥a M10
13 | WSAL0 INERFHE 3470 M10O
14 | JCS206LLU A=y h3URFTY LS CS206LLU

HHr—nmmMI—t'L\)b—'H,Hl—ﬂl\Dmoiqxl—lthpl\:l—ﬂ:—l:—lk—d»—l:—l

15 | 081310100M H5—

16 | 1206130003 Jo>ho—JLCP

17 | 1206150003 Y7k, varhk

18 | 055204100M Ho— '

19 | 0007290000 A& :

20 | JUEL206D1 d=w hIURFYLY UEL206D1
21 | 0702780003 AZNHN—CP o ‘
22 | NSZ10 ajjFFyk 8 2o M10

23 | WSAL0 NXFHE 30 M10

24 | 0811090003 2704wk 13T '

25 | 0702820003 A7y

26 | 1134420003 ATy ]}ﬁ 26T

_15_'



MFH3200 TxlL—/N\—~RR% o—Jb; Lo, Favy

58 | EWK869932 SFY¥5 (1./8)

59 | EWK869935 LEYE5 (1./8)

. 60 | EWK864106 SEFYFF (M6)

61 | EWK864206 LEYVFF (M6)

g | HRES B & f W B fi =
27 | NC2L20150 FyrwZFwvh 2¥abZ M20X1i. 50 2
28 | 075318000M AR : 2
29 | PC0O40040 JYE 4X40 2
30 | LA50039 O—-5Fr—> 50X39L i
31 | 0825690003 A7045 9 k; 15T 1
32 | LAB0037 O—5Fr—> 60X37L 1
33 | 1206160003 a7 —ACP 1
34 | NZ16 vk 8 2¥2 M16 2
35 | WSA16 NRFHR 337 M16 2
36 | 000761100M Twiy; 16 2
37 | 081267000M F>3ara—5CP 1
38 { DCO017 CHEFRAT 24 17 1
39 | 1206210000 AN PN 1
40 | 1002641003 ATalrw RCP 1
41 | 081459000M Owr¥ oo 1
42 | 067032100M ATV T 1
43 | DC025 CHHZWAT 27 25 1
44 | J6205Z R—NRFUT7 62052Z 2
45 | DHC052 CHF AT 7F 52 2
46 | 1002660000 Ty 1
47 | 081381100M A 1
48 | 1002650003 7S FRN A - 1
49 | NC2L20150 FywANFwvh 232k M20X1. 50 1
50 | PC040040 UYL 4X40 1.

51 | PS050050 ATV HFEY 5X50 1
52 | ONA6 JY)—ZA=w 7 A M6 2
53 | 1213530003 AT L=/ 1
54 | BX10045 D 10, 9 M10X45 2
55 | WSAIL0 INFTHFR 307 M10 2
56 | 075290100M Jwiy: 10 2
- 57 | 0674891000 F2T3FR—ACP ;800 3
2
2
2

K
4
4
4
1
1
1
1
1

1
3
3
2
1
2

' 62 | ONBS1 JUY—2Z=w7)y B PT1,/8
63 | ILT100 A a0y y14 2. 5X100
64 | 1038750000 ARy TANR—X ’

- 65 | AAOSOD s 50
66 | ADOS0 A7y b2 50
87 | AADGO WEFF 60
68 | AD0BO A7y UZT 60
69 | 0831702000 Fa7LF—ACP ;900
70 | 081114100M TL—h
71 | BZ06012 Ak 8. 8 M6X12
72 | WS06 NAPHF 207 M6
73 | NSZ10 aH%Fvh 8 232 M10
74 | 0704200000 DN
- 75 | JUC208D1 dzw haouR7US UC206D1
76 | JSEASY INAY 73X SE AS105

..16_.



MFH3200 ZxlL—YN\—~RR¥

A
[+

N—FE;16X2. 3

| | BARES T &R 4 W fERER i &

1 | 1139410003 Fy7 1
2 | ONACSL J)—2=w7N C PT1/8 1
3 | KMSTO014 TFToaATFYwT 14 1
4 | 1139421003 NS 1
5 | 1139430003 Fw b 1
6 | 1139441000 Twia 1
7 | 1139551000 T4 5 1
8 | 0007170000 Fo—1t 1
9 | 1205590003 HIN—CP 1
10 | 1205640000 TN U 2
11 | 076510000M FaNy 3
12 | 072013200M NFTyix ;12 4
13 | BZ12030 | AVE 8. 8 M12X30 4
14 | WSAI12 NERYIIx 307 M12 4
15 | BSPZ08016 JHZSWYERIVE 7 M8X16 12
16 | BSZ10030 JAFZFIVE 7T M10X30 2
17 | 044098500M Twivy 10, 5X3. 2 2
18 | WSAIL0 INFHHE 3TT M10 2
19 | 120568000M NENLCP 1
20 | 1139480000 ROV I HT— 1
21 | 1205650003 & TL—KCP 1
22 ' | ORP&0 QU4 P60 1

000087200M 1

- 17 -




MFH3200 Z7# l/.—~‘/“/\—/\‘7\§' FL—A

£

S\

D
K

\3 \

g | W’ E ' - O - 1B w &
1 A1 TL—ACP
2 | 1207920003 AL T —ALCP; 2 1
3 | BZ12035 Ak 8. 8 M12xX35 2
4 | WSAI2 NRHHR 300 M12 2
5 {NZ12 Fvbh 8 232 M12 2
6 | 078063100M H5— 2 -
- 7 | BZ16060 AV 8. 8 M16X%X60 2
8 | WSA16 INFHHER 307 M16 2
9 | NZi6 Fwh 8 232 M16 2
10 | 042322200M Juiy; 16 2
11 | 1207960003 RRALTL—FRCP; A 1
12 | 1207970003 HThALTL—KRCP ; B 1
13 | BSZ08020 aFyFIVE 7 M8X20 - 3
14 | 055474000M ATFPIVE 8. 8 M8X20 '3
15 | 044097200M Twiv 8 3
16 | NSPOS AHZRTV TPy 4 M8 6
17 | BSZ10060 aH&ERIVS 7T M1IOX60 6
18 | BSZ10030 aHFHRIVE 7 M10X30 2
19 | 075290100M Ty ; 11X4., 5X30 8
20 | NSZ10 alyFwbk 8 232 M10 8
21 | WSA10 NRHHR 307 M10 8
22 | ONA6 =29 A M6 1
23 | 0920290000 Tyia 2
24 | 1208120003 Z&ZRCP 1
25 | 077934200M [ 1

..IS_




MFH3200 T4L—UN—~RR%

c7b—A

v i % e ‘ Pl [eTal 4 b7 3 B3 ] =
26 | 000738000M VFES; 6 1
27 | 0241180000 A 1
28 | BZ12130 AHIh 8. 8 M12X130 1
29 | NNF12 750102 s M12 1
30 | 1201410003 NPICP 1
31 | BZ16060 P 8 8 M16X60 4
32 | WSA16 NS 337 M16 4
.33 | NZ16 Fwhk 8 23a M16 4
34 | 120803000M J54w hCP 1
35 | BZ12045 Pt 8. 8 M12x45 2
36 | WSAI2 INFYHR 309 M12 2
- 37 | 065482200M Twiy; 12 ‘ 2
38 | NZ12~ Fwvh 8 232 M12 2
39 | 113589000M 77 2
40 | BSZ08020 IAZFIE 7T M8X20 4
41 | 0808270003 A 2
42 | CM08025 +H5O%Y M8X25 4.
43 | 113591000M TN 2
44 | 055474000M ATFFIE 8.8 M8X20 4
45 | NSPO8 OHZZTVTFv bk 4 M8 12
48 | 1195820003 ¥ P CP 1
49 | BZ16060 Mk 8. 8 M1I6X60 4
50 | WSA16 NNRTFHR 307 M16 4
51 | NZ16 Fwh 8 22 M16 4

- 19 -




MFH3200 Za#lL—IN—~RR%

IPAS N

figh | MM E S W & & B B i &
1 | 0813740003 V75427 7—LCP 1
2 | ONB6 TJY—ZX=w7) B M6 1
3 | 119689000M ¥ CP 1
4 | BSZ10030 IHFPIE 7 M10X30 1
5 | WSAL0 INFHHR 307 M10 1
6 | 115167000M: AV a—TFPv X+ 1
7 | 087229100M Oy 73y hbh; 20 1
8 | 066915100M ATV RIS 1
9 | ONAS FYU—ZAZw7N A M6 1
10 | 0813710006 ATV T 1
11 | 081372000M AT TFENY 1
12 | 081375100M v 1
13 | ©¥000739000M DFE>; 9 1
14 | 0813701006 SLIVF 35X175 1
15 | BZ16100 FIh 8. 8 M16X100 1
16 | 081515100M v 1
17 | 000739000M UFEY; 9 1
18 | 116428100M [ 1
19 | NSZ10 JIH5Fwbh 8 232 M1O 1
20 | NN16 F1aFyh M16 1
21 | 120255000M VFE =TT 4 —Fr v F U+ 1

- 20 -




MFH3200 Z#4L—SNA—KZRY

BEE | MEEE |- B & & L5 &
1 | 1207050003 HIN—;R1 1
2 | 0796583000 =FVU; 50 4

3 .| 079659100M LAt ‘ 16
4 | 044097200M Ty 8 4
5 {PS0O40016 | RFUTES 4
6 | 1138450003 JIN—; R—3 1

.7 | 1193890003 HIN—CP ;L3 1
8 | BSPZ08016 I SWYFHRILE 7 M8X16 4
9 | WRAO8 ESHHR M8 4
10 | 055474000M AZFARNE 8. 8 M8X20 1

11 | WRAOS ESWHF M8 1

.12 | NSPO8 aAHFZATVTFyk 4 M8 1
13 | 1207060003 FI8—; L2 - 1
14 | 055474000M H7ERFIE 8. 8 M8X20 4
15 | WRAO8 LR M8 3
16 | NSP08 TIHFATIV Ty 4 M8 4
17 | 044097200M | Twiv; 8 1
18 | 1207070003 HIN—:;L4 1
19 | BSZ08020 JHZFNE 7T M8X20 3
20 | WRAO8 IR M8 5
21 | NSPO8 JHFZ TV FFw b 4 M8 2
22 | 1207080003 AN—CP ;L1 1
23 | 0333782000 APy 1
24 | NSPOS A ZTV o 5Fvh 4 M8 2

- 21._




MFH3200 7#4#L—UN—A"RRY FUN, AVRFIa AT

o=
. : ' g2
FrRyTES SN N ng

g | WHAmEE - {E w &
1 | 120570000M S NCP 1 :
2 | BZ12035 A 8. 8 M12X35 6
3 | wsal2 INFTHR 307 M12 6
4 | NZ12 Jvhk 8 232 M12 6
5 | 055640100M TS5 1
6 | 0442890000 —F1 ; M8 2
7 | 1205790003 752V CP 1

8 | BZ12035 wIVE 8. 8 M12X35 6
9 | WSAIL2 INFWHR 30 M12 i
10 | NZi2 Fvh 8 23a M12 6

11 | 0814611002 g —ALi1 ) 2

12 | BZ12060 Abh 8.8 M12X60 8

.13 [ wsAil2 NAHR 307 M12 8
14 | NZ12 Fwik 8 2¥a M12 8
15 | 1208790003 75 0CP 1
16 | PS080040 ATV TE 8X40 4
17 | ONC6 FV—R=Zw 7 C M6 4
18 | 100137000M [ 1
19 | PS050032 AFUTE, 5X32 "9
20 | 096536000M 7RI B 1
21 | 067931100M Ty ; 12 1
22 | NZ12 Fvhk 8 232 M12 1
23 | WSAI12 NFPFHR 307 M12 1
25 | 0814600002 oI 1
26 | 1196010003 AF ) 2

_22_




MFH3200 ZFlb—2N\—~RX%

CFUN, ADRTa i

FrEGTEs

\_/}
/
ftEF | A E S B & & {EH ] =
27 | 0814631000 Twia 2
28 | ONAG FU—Z=w7) A M6 2
29 | BSZ10050 JAFRIVE 7T M10X50 4
30 | WSAL0 NFFHA 307 M10 4
31 | NSZ10 JfyFv s 8 232 M10 4
32 | PS080050 | ATUHTE 8X50 1
36 | 1061640000 NV 7143zl 1 .
37 | 1065251000 SN a43a7111 1 '
38 | 0467530003 APART i a /S 7CP 1 | A va
39 | BZ12035 ANE 8. 8 M12X35 6 |FFE
40 | NZ12 Jwhk 8 232 M12 6 | AFiar
41 | WSAL2 NAYHF 307 M12 6 |AFar
42 | 1032550000 ADATF a1 7 1 | A7 ;o
43 | 1151210000 SR MFH4000 2 '
44 | 042783600M Jwiy ;12 6
45 | 0574600000 N —

- 23 -



MFH3200 7#L—UN\—A~RR¥

Ya—h 12ARFarva—hk

fMEE | WS EE M Ooe & {iEx 1
1 | 1207110000 32—hKCP 1
2 | 082513100M v 1
3 | PC32032 YUY 3. 2X36 2
4 | 096538000~ & | ATV 2
5 | 070286100M D2 45124 2
6 |025266000M | FaAZHHE 2

-7 | BAII2100 Bk 4. 6 ¥ M12X100 2
8 | NZI12 Fwh 8 22 M12 2
9 | 066672500M | M E 2
10 | DC020 CH#RAD 27 20 2
11 | 1158560003 HiR—k 1
12 | BSZ08025 | THFFILS 7 M8X25 2
13 | NSPO8 AHFZATV FFv s 4 M8 2
14 | 0826573003 AT—CP 1
15 | 076132000M [ 1
16 | 000085200M NR—FE; 8X1. 6 1
17 | BSZ10030 IHAFRNE 7T M10X30 2
18 | NNF10 TS50 F vk M10 2
19 | 1207300000 ADATara—hCP 1
20 | 1207370000 ~w RCP 1
21 | 000451000M HOFFNE ; M1I0X25 6
22 | 000443200M HFFINE ; M10X35 3
23 | 084346000M F15— 3
24 | 044098500M Twie 10, 5X3. 2 12
25 | NSP10 aHS ANy 7Fwbh 4 M10 9

..24__




MFH3200 Zx#lb—N\—~R¥

g | B EE W M & {EREK i
26 | 084083000M A7 1
- 27 | 0826781000 o—7 1
28 | 070347200M TI2v b 1
129 | 072944100M TN 1
30 | 072942100M 7—UCP 1
31 | 0703432000 I 1
32 | BSZ08020 JIAZRIVE 7 M8X20 6
33 | NSP08 IHFATY 5w b 4 M8 6
34 | CP0OG025 +3RIRY M6BX25 1
35 | NNF06 TS5V FA 02ty M6 1
36 | 0940661000 STARARSATIR) (60) 1 2t
137 | 0469010063 ADATFarya—hCP 00 1 | #AFvar
. 38 | 042322200M Tyl ;16 2
39 | 055640100M TS50 1
40 | 0442890000 =F ;M8 2
N 09/8321083 ey

..25..




MFH3200 Jxb—2PN—ARR% UN=R2Y ¥, a7y, oy

AL 7V —A
Fixca

Y7 b?—.& | Q*‘

’FF'E'MJ\

23
14

-
‘ T

fE | X RBEE B om A W B 1

1 | 1141480006 )% CPW6 0><160><396 1

2 | 120551000 | ¥ CP 1

3 | 044091100M YIhTXFNE M 1 0X30 1

4 [ NSZ10 IHyYFybk 8 232 M10 1

5 | WsA10 INRYHE 30 M10 3

_ 6 | 089976000M ¥2CP #ro 1

[ 7 | Bszosozo aA&FIE 7 M8X20 1

8 | WSA08 INFYHR 307 M8 1

9 | CLF40M A7Z FZX PT1./2 3

10 | 0007781000 ATS5F w7, 1/2 3

11 | 2081-08-04 Twi PT1/2XPT1,/4 2

12 | 2083-08-04 w7l PT1/2X1,/4 1

13 | 0009280000 AbwINNT 1,74 1

©14 | KHO405000AP | A7WiF—RX 1,/4X5000 1-—4 1

15 | KHO403150AP | A 7WHh—Z 1,/4X3150 1—4 2

16 | 1033-04 F—ATIR PF1/4XPT1/4 2

17 | ILT380 A2a0v54 7. 5X382 2

18 | ILT300 A2anyZy1 4. 8X301 6

23 | 103504 R"—ALIAR45 PF1/74XPT1/4 1

- 96 -




MFH3200 J7#L—IN—ARR¥% FURTTE, FrRTaS oI

7 )
i

729FRyTA (2) N

fE | BaEE ' W s & W B 1 &
1 | 1201240000 T4 Ug—Ah 1
2 | BsZ08025 IHFHRIE 7 M8X25 4
3 | NSPO8 JAZATV Ty s 4 M8 4
4 | 0703511000 NT—A  RE—4— 1
5 | CPOB025 +FA_AIRY M6EX25 3
6 | NP0B AFUTFw bk M6 3
"7 | 0814421000 T RIIE 1
8 | 0828781000 AT wFhw i & 1
9 | 0828791000 a—-K; 1 1
10 | 1142580000 a—F; 2 1
11 |ILTI00 A ab0w7%5%4;100 7
12 | 1038750000 IRy 5 AR, 4
13 | ILT300 Aatdyl&54;300 4
14 | 119600000M AN 1
15 | TRK08020 6 hAZXY 10. 9 BRI M8X20 1
16 | NSZ08 JHZFwhk 8 232 MS 1
17 | FU30A kEa—X; 30A 1
18 | 0840720000 A1vF;S5S—338 3
19 | FU30A ta—X; 30A Ga—kA 1
20 | FUI5A ba—X;15A UovF-AvER 2

- 927 -




MFH3200

TA L —N—RRE

5%, NI

AL T —A
el

ETHIE
BE | HAE®EE - - B =
1| 0003790000 #14¥;10/80—12—6PR 1
2 | 0003860000 Fa—7710/80—12 1
3 | 000854000C B, 700X12 1
4 | 0008730004 N7 ;F62X80 1
5 | J30206 FT—INTFUZ ;30206 1
6 | J30208 F—]SRFU2 ;30208 1
7 | 0008740000 =N wix; 40X80 1
8 | 000712000M Forw ATy h; M24X1. 5 1
9 | PCO40032 JUEZ; 4X32 1
10 | 000415000M FruT 1
11 | 0008700000 TR M16X1. 5X45 5
12 | 0008710000 TA—=IFv b ; M16X1., 5 5
13 | 0555290000 F14¥ ;6. 00—9—10PR- 1
14 | 0555300000 Fa—7;6. 00—9 1
15. | 064906000C ’—I;E4. O0EX9DT (pl4. 5) 1
16. | 064907000C R —=WOIVTHD ;4. O0EXIDT(pl4. 5) | /
17 | BA12025 Tk 4. 6 M12X25 6
18 | NA12 Fwh 4 M12 6
19 | WSA12 INFYHE 307 M12 6
20 | 0004064003 NT:AB2XT72 1
21 | J30207 F—NO—3RF7YS 30207 1
22 | J30205 F—NO—3RF7YSJ 30205 1
23 | 000500000M =Ty 35XT 2 1
24 | WRA24 | ESYHR M24 1
25 | 000712000M FowA)Fyh M24X1. 5 1

_28_




MFH3200 Za#b—IN—A"RR% : , FAY NI

AMTb—b
51

AR
fiEs | BaES m oM A W Bk im &
26 | PC040032 JUV 4X32 1
27 | 000414000M Fyws; 52 1
28 | 000421000M AVE;M12X1. 5X45 6
29 | NZ12150 Fvhk 8 2¥2 M12X1. 50 6
.30 | WSA12 INFFHR 307 M12 12
31 | ONBS1 | ZU—2Z=w7) B—PT1/8 1
32 | 0008560000 F14YAS;10/80—-12—-6PR 1
33 { 0649051000 Y{4VYAS ;6. 00—9—10PR 1

- 99 -



i

OWALA—28 NO—-3q4b

Rigs | B E & B O & B {8 fis
ASY | 1208510000 Ny—JaAF OWALA—28 1
1 | 1208550000 Tafrbt 127732 OWALA-—-28 1
2 | 1208560000 Yaftrbh YU LA-28 1
3 | JOLABASY DOz 9F VX OWALA 1
4 | JLAASY AN 73 LA AS270 2
5 | JFYLAL T4 wT4273—7 12F (LA) 1
6 | JLA0281 M7 42F LA-34 1
7 | IMD313 FrERAN— 427 MD—31 1
8 | PS100065 ATFYTEY 10X65 1
9 | JPYLA Elvdka—r (LA) 2
10 | JYPLAO27 A 7YFI—7 LA-27 1
11 | JPC14ASY DS5TEY 73 (14) 1
12 | MD314 7 AN~ 7Ty MD—31 1

- 30 _




LA—45 NRDU—aq b

Ry | M amFE = - T - L 1] xZ
ASY | JLAO45ASY NTJ—TaAfr LA—45 1
1 | JLAO451ASY Paqh A2F7X LA—-45 1
2 | JLAO452ASY Paqdh FUFII LA—-45 1
3 | JPYLA YowFa—z (LA) 2
4 | JLAASY AT U7X LA AS270 2
5 | JFYLAL TA9T4273—0 127 (LA) 1
6 {JLAO451 M7 A4+ LA—-45 1
7 | JPCI4ASY 257 73 (14) 2
8 | IMD0453 FEHN— A MD—45 1
9 | PSI00075 AFYTE 10XT75 1
10 | JYPLAO45 MY FI—r LA—45 1
11 | IMD0454 TN~ T MD—45 1

- 31 -




- 32 -



._.33_






$S-9908264

3 i

TR

ne Il B % AR
== ¥ %R

R

tEEeE

SR SRR

TEEER

Wa &%

My &2 E PR

REEBEM

L S

B W S % P

BREEXM

#HH = KR

066-8555

066-8555

070-8004
098-4100
080-2462
090-0001
086-1152
025-0312
985-0845
323-0158
480-0102

399-0033

700-0973

862-0039

885-0004

BN HMELEOTHS B3
“TEL 07

1
166-62-8985
1

TEL 01862-82-1932
FAX0D162-82-16286

WA 22 &1 T HI12 &

- TEL O155-37-8080
FAX0155-37-5187

£ R W A /R 3 0 2

TEL 0157-24-3880
FAXO157-61-1344

EEBPEEAIEN 2 THI6E 2

TEL 0O1537-28-2624
FAXO01537-3-2640

BFRIEET _BUEHE=0E333 —1
TEL 0198-26-574.1
FAX 0198-26-5746

EWE L BHFERI2 TH 4 %275

TEL 022-367-4573.

FAX 022-367-4846
AR A IDFHBE2512 —1

TEL 0285-49-1500
FAX0285-49-1560

EME PR AF ST ERERI9

TEL 0587-83-6888
FAX0587-83-5416

EFEVNATAFEFEES824—5
TEL 0263-26-5731

FAX 0283—26—57_8‘1
MWEELTTHE 704 —103
TEL 086-243-1147

FAX 086-243-1269
AR ATEEEITEZHFL &
TEL 096-381-7222

FAX 086-384-3525

EEEMM A ML 3537 —1

TEL 0986-38-1045
FAX0986-38-4644

*. 11. 08. 7S@®



